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In 2007, a school had 450 new pupils, making d @td600 pupils.
In 2008, there were 504 new pupils. 8% of the neimbf the
previous year’s pupils left the school.

(a) Find the percentage increase in the numberewf pupils from
2007 to 2008.

55



HEHK7 %=+ ~¥ (8/2009)

(b) How many pupils left the school?

(c) What was the total number of pupils in the st 20087
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(@) wxmm (b) 1600% 8% (c) 1600 + 504 — 128
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1. Bakri has some marbles. 25% of his marbles are.blu5— of the

remaining marbles are red and the rest are grelérhe has 240 green
marbles, how many marbles does Bakri have altogethe

2. Mr Tan jogs 6 km on Monday. On Tuesday, the distahe jogs
decreases by 25%. What is the total distance & gm Monday and
Tuesday?

3. Jiahui collected 630 stickers of which 60% of theere round and the rest

were rectangular in shape. She gave 50% of thedratickers to her
younger brother and 25% of the rectangular stickerter best friend.
How many stickers did Jiahui have left altogether?

4. Adam, Benjamin and Carina had a total of $845. yTwent shopping
and Adam spent 30% of his share, Benjamin spend $b@d Carina spent
twice as much as Adam spent. Given that the thideem had $385 left,
how much money did Benjamin and Carina have altaget first?
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PSLE# % £ 9, \
Paper |Booklet Type Questions Marks per Weightin
> o guestion dgnting
10 1 10%
A [Multiple-choics
1 5 2 10%
(50min) 10 1 10%
B Short-answer
5 2 10%
Short-answer| 5 2 10%
2
. Structured /
(1h 40min 13 3,4,5 50%
long answer
Total (2h 30min) 48 - 100%
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